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WARM-UP... y=mtb

Problem : Which of the following could be the graph of dx - Gy =12 7
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Graphing a Linear Function Given Its
Equation in Slope-Intercept Form
Graph the linear function with equatic:-

Method #1: Use the Slope-Intercept Form

STEP 1: Plot the y-intercept i’)
STEP 2: Use RISE / RUN to get next point '
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6.4 Slope-Intercept Form of the Equation for a Linear Function
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Here are a couple of SPECTAL CASES:
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l—.\(J N= % j
] 1 | k ] 4v\
f
X ol . . 4 = X
"
x
v
v
Finish the statements below: / n“"‘k’

Horizontal Lines will always have the equation g‘ =C j

Vertical Lines will always have the equation ___ ¥ = C

Graphing Linear Functions

Method #2 - Table of Values(must have at least 3 points)
ex: 3x-6y+18=0
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Method #3 - Using x / y intercepts

ex: x-S5y-10=0

X-ink k('\[':O
X-S()-10=0 9

X -(b=0O
X=10
(10,0)
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IT. Graphing LINEAR relations using intercepts

1) Problem : Using intercepts, graph 4x+y=4
Y 2) Problem : Using intercepts, graph 20x + 5y = 20
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Hemtsit €155

Puzzle Worksheet - graphing slope y-int

= ¥
Whom Should You See at the Bank
If You Need To Borrow Money?
Usa the slopa and y-intercept to graph each equation telow. The graph, I extandad, will cross
a lefier, Print this letter In each bax that contains the number of thal exercise.
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COJECTIVE 5-|: To graph a Sne given B3 equaton n eicpedntarcapt frm.  © 1) Creasvs Putiensees. 155
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Puzzle Worksheet - Homework purpose.

According to Some Students, What Is the True
Purpose of Homework?

Write each equation below in slope-intercept lorm. Then find tho slope and
y-nlercept al the bollom of tho page. Wiita tho latier of tha oxercisa abova them.

©) 2x+5¢=10 @© -7x-ay=16

@ 4x+3y=9 @) ax-2y=7 ®) sx-9y=-7
© -2x+3y=-21 @ ox+ay=1 @ -2x+7y=0 ‘
@ -x+4y=20 ® ex-y=4 @ 12x=2y+1 @) ax—6y+3=0
® 3x-s5y=5 @© ax+3y=8 ® x+a=ay ® y-2=0
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Puzzle Worksheet - Graphing #1 (Cow).pdf

b

Why Did the Cow Want a Divorce?

Graph each equation balow, Tha graph, if exterded, will cross a lefer. Lock for (hig latter in
the string of lefters near tha boftom of the page and CROSS IT OUT each ima it appears s
When you finish, write (he remaining lattars in e rectangle at the botiom of e page
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Puzzle Worksheet - Graphing #2 (Coffee).pdf
X

b W)

Why Does a Poor Man Drink Coffee ?

Usa the slope and y-Inlercept lo graph each equation below, The graph, If extended, will
cross a latter. Print this latter [n cach box that containg the number of that exercise.
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—-3x—-5y=10

PRACTICE PROBLEMS...

***Finish both puzzle sheets
p. 362 #7, 15, 21



Attachments

Q Puzzle Worksheet - Graphing #1 (Cow).pdf
Q Puzzle Worksheet - Graphing #2 (Coffee).pdf



Why Did the Cow Want g Divorce?

Graph each equation beiow. The

the string of letters near the

SHERI @B it

graph, if extended, will cross = lstter. Lock for this jatt
bottorn of the page and CRCSS
When you finish, write tha remaining letters in the rect
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angie at the botlom of the page,
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OBJECTIVE 5—

m: To graph a line Given its equation (inciudes vertical lings).
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CBJECTIVE &-I: To gragh aline given its equation (axcludes verical fines), @ 1988 Creatve Publicalion
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